EnasT

CIH Apceﬂan

1 Topnezo-1 Cnaprak IOHuOp 10:00 9-1 1
2 CIII Kamyra-2 CIII Apcenai 10:00 33-0 2
3 Topmeno-2 CIII Kamyra-3 11:00 1-7 1
A CIH Kanyra-1 KBaHT 11:00 25 2
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5 CnapTaK KOnuop CIII ApceHran 12:00 1-26 1
6 Topmeno-1 CII Kanyra-2 12:00 20-0 2
7 CIII Kamyra-3 KBaHT 13:00 5-5 1
8 Topneno-2 CHIK a-1 13:00 1-4 2
= : .
9 CIII Kamyra-2 Cnaprak FOHHOD 10:00 12-1 1
10 CIII Apcenan Topnezo-1 10:00 7-0 2
11 CIII Kamyra-1 CII Kanyra-3 11:00 2-4 1
Topneno-2 11:00 0-7 2
13 CIL ApceHan Kaant 1
14 CIII Kanyra-3 Topneno-1 12:00 4-6 2
15 Cnaprax FOnnop Topneno-2 13:00 5-2 1
16 CIII Kamyra-1 CIII Kanyra-2 13:00 6-1 2




r p.r. OvKK mecTo
1 Topneno-1 9-1 29-8 6 2
2 CIl Kanyra-2 0-20 1-65 0 4
3. CIL Apcenan 7-0 66-1 9 1
4 Cnaprak YOHHOp 1-9 14-36 3 3
rpynmna B p.T. O4YKM mecTo
1 Topnexno-2 i 14 | 70 1.7 911 3 4
2 CIII Kanyra-1 a1 | ' 2-5 2-4 8-10 3 3
3 KBaHt 0-7 5-2 5-5 10-14 4 2
4 CIlI Kanyra-3 7-1 4-2 5-5 16-8 7 1




